
SAP ABAP table VTVBARW_MR {Market Risk: Position values}

VTVBARW_MR

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RPORTB [CHAR (10)]

WAERS [CUKY (5)]

RLDEPO [CHAR (10)]

SANLF [NUMC (3)]

GSART [CHAR (3)]

LAND1 [CHAR (3)]

AUSWT [CHAR (4)]

WBARWER [CUKY (5)]

SZENARI [CHAR (10)]

RFHA [CHAR (13)]

RANL [CHAR (13)]

RANLVD [CHAR (13)]

PARTNR [CHAR (10)]

RREFKONT_R [CHAR (8)]

WGSCHFT [CUKY (5)]

WGSCHFT1 [CUKY (5)]

WGSCHFT2 [CUKY (5)]

SBWHR [CUKY (5)]

REGELID [NUMC (10)]

QASTUECK [UNIT (3)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VTVBARW_MR-PARTNR = BUT000-PARTNER 

0..N

0..N

JBREVAL

MANDT [CLNT (3)]

AUSWERTUNG [CHAR (4)]

 VTVBARW_MR-AUSWT = JBREVAL-AUSWERTUNG 

0..N

0..N

JBRREGD

MANDT [CLNT (3)]

REGELID [NUMC (10)]

 VTVBARW_MR-REGELID = JBRREGD-REGELID 

0..N

0..N

T000

MANDT [CLNT (3)]

 VTVBARW_MR-MANDT = T000-MANDT 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTVBARW_MR-BUKRS = T001-BUKRS 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VTVBARW_MR-LAND1 = T005-LAND1 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VTVBARW_MR-QASTUECK = T006-MSEHI 
0..N

{0,1}
T037S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

 VTVBARW_MR-RREFKONT_R = T037S-RREFKONT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTVBARW_MR-SBWHR = TCURC-WAERS 

0..N

0..N
 VTVBARW_MR-WAERS = TCURC-WAERS 

0..N0..N

 VTVBARW_MR-WBARWER = TCURC-WAERS 0..N
0..N  VTVBARW_MR-WGSCHFT = TCURC-WAERS 

0..N0..N
 VTVBARW_MR-WGSCHFT1 = TCURC-WAERS 0..N0..N

 VTVBARW_MR-WGSCHFT2 = TCURC-WAERS 

0..N

0..N TWD01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RLDEPO [CHAR (10)]
 VTVBARW_MR-RLDEPO = TWD01-RLDEPO 

0..N
0..N

TWPOB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RPORTB [CHAR (10)]

 VTVBARW_MR-RPORTB = TWPOB-RPORTB 

0..N

0..N

TZAF

SANLF [NUMC (3)]

 VTVBARW_MR-SANLF = TZAF-SANLF 

0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VTVBARW_MR-GSART = TZPA-GSART 

0..N

0..N

VDARL

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SARCHIV [CHAR (1)]

RANL [CHAR (13)]

 VTVBARW_MR-RANLVD = VDARL-RANL 

0..N

0..N

VTBFHA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

 VTVBARW_MR-RFHA = VTBFHA-RFHA 

0..N

0..N

VTVSZKO

MANDT [CLNT (3)]

SZENARI [CHAR (10)]

 VTVBARW_MR-SZENARI = VTVSZKO-SZENARI 

0..N

0..N

VWPANLA

MANDT [CLNT (3)]

RANL [CHAR (13)]

 VTVBARW_MR-RANL = VWPANLA-RANL 

0..N

0..N


